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The number of one’s present in the binary representation of 10 X 256 + 5 x 16 + 5 is
10X 256 + 5 16 + 58 2380 Qde@rsodey $osk 20w OF) 00 DI ?

(A) 5 (B) 6
<o 7 D) 8
2. In which of the following gates, the output is one, iff atleast one input is one ?
ge FEOT odoad ey 6&)§ BT 200 BRBE (input)odn 20w e:?ﬁcgé’,
Qe®F (output)o3dn 20T 8HTOLIE ?
(A) NOR (B) AND
(©) OR (D) NAND
3. The hexadecimal number for (95.5),, is
(95.5),, 7} BB9WIDe® (hexadecimal) ﬁoﬁ.ﬁ 0370 ?
(A) (SE.8)4 (B) (9A.B),
(©) (E.F), (D) (5A4)6
4.  Which of the following sets of component(s) is/are sufficient to implement only arbitrary
Boolean function ?
(A) XOR gates, NOT gates
(B) 2 to 1 multiplexers
(C) AND gates, XOR gates
(D) Three - input gates that output (A.B) + C for the inputs A, B and C
Be FY¥TOW 0droxd FeT(MY) Meord 0o)de ARII0BS 22030 a‘aoi)a‘dd)&
OTDTYATOO ToTOVIW ?
(A) XOR rlee’rigb, NOT rIee®risd
B) 2tol d)%gg’goeﬁsb
(C) AND rleex®*righ, XOR rleessrigd
(D) A,B @3) C ad3nur (A.B)+C e@d3Ngod @t dedd riee’risd
5. Consider the following pseudo program segment :
ge IO T epaﬁr‘f%'}d)& Cilelatold
if (a>b) printf(“a>b”);
else printf(‘“else part™);
printf(* a<=b");
a<=b will be printed if
(A) a<b (B) a>b
(C) a== (D) Inall cases/ €13 TOWIeTIELY
Space For Rough Work
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6.  Match List I with List II and select the correct answer using the codes given below the

lists.
List I
P.  while loop
Q. do while loop

R.  for loop

S.  continue

T. break
Codes :

P Q R
(A 1 2 3
B) 2 1 3
< 3 1 2
D) 4 1 3

NI N O N )

List II

1. Executed at least once.

2. Are used when it is known that how many times
loop is executed.

3. Are used when we want to loop until certain
condition was met.

4.  Put the control starting of the loop.

5. Put the control out of the loop.

T

5

5

5

5

e FEOS By 1 DI By 11 ), BeodID DI JYY T By
00FeIBMyor TOOIRE Y0ITBR), 8OHTIk.

aﬂg—l
P. ﬁéeﬁ SVl

1.

Beg-11
TR T 20w 2300 FooherBriet)Ids

BD-HO® ORD®T 2. ORI &) o0 FooeTIBriRodE Do
SuOYM ¥TRHIT
R. $0o0° exoom® 3. Do) o) RBH)MER, ToHWBBe D°
00mwen 'aa;,g&)mﬁ DETIr IS
S. @womxd 4. 0D WY00g’ny AoHOoZTB), YOI
T. 33 5. ©R®IT BRI QoDoZTB), 0TI
Codes :
P Q R S T
A 1 2 3 4 5
B) 2 1 3 4 5
© 3 1 2 4 5
(D) 4 1 3 2 5
Space For Rough Work
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The function sprintf() works like printf() but operates on

(A) datain a file (B) stderr
(C) stdin (D) string
printf() 803 sprintf() FOT FIPBII. WS __ 3 &oee Fooe AWE HROBE
(A) TBITY BB (TeoE) (B) stderr
(C) stdin (D) string
8.  What is the effect of the following pseudo ‘C’ program code ?
for(int i=1; i<=5; i=i+1/2)
printf(“%d”, 1);
it prints
(A) 1,15,2,25,3,3.5,4,4.5,5,5.5 and stops.
(B) 1,2,3,4,5 and stops.
(C) 1,2,3,4,5 and repeats for ever the same sequence.
(D) 1,1, 1,1, 1, and repeats for ever the same sequence.
Be B0odST C J0Fe3rT BOwoed ?
for (int i=1; i<=5; i=i+1/2)
printf(“%d”, 1);
(A) 9 1,1.5,2,25,3,3.5,4,45,5,5.5 @0HDIT &HIR) QLINIEI
(B) 9 1,2,3,4,5 S0QHIWB &HI3) QNI
(C) 1,2,3,4,5 S0QHIW D) edde @d)gd)dd)a VWO DVTOBSE WIS
D) g 1, I, 1, 1, 1 [oQHIB Doy edde @dogdodd)a A
DXV 0B SE WIS
9.  If the following ‘C’ program (myprog) is run from the command line as
C:>myprog Friday Tuesday Sunday then, what would be the output?
Be FYNT C DA (myprog) o), esi3ed TowvR0od C :>myprog Friday Tuesday
Sunday SBwori Qe®dF output HDNTITS ?
main(int argc, char *argv[])
{
printf(“%c” ,**++argv);
}
(A) m B) f
(C) myprog (D) Friday
Space For Rough Work
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10.

11.

12.

In ‘C’ program, if the condition is missing in ‘for loop’ then
(A) Itis assumed to be present and taken to be false.
(B) Itis assumed to be present and taken to be true.
(C) Itresult in a syntax error.
(D) Execution will be terminated abruptly.
C 3baH0DY Pott-s® 3@ d0r33adn a—azéojoaﬁcgd, est3

(A) ot  eUTBRNTB DO PATVOIDHIE  DIF) I H0w
2O HIL

(B) o e0@3Be0Ncd Howd 0DTIMDHIE &I TO doTb Gilelplnianigvcinl

(C) ozgdesdadey Wheed yLOLPHIT

(D) Bo0DedBe BTN DFToDS BRIOIIHIE

A type of class that allows only one object of it to be created is

(A) Virtual class (B) Abstract class
(C) Singleton class (D) Friend class
Feme 35& 20T @agagd)& BRITE NS a;azgmed 20D P
(A) Heoeaders 5 5° (B) e2°79Es 39 o7°
(C) dorne®n® TR gT° (D) Pows 557 0°

Identify the correct statement in the following:
(A) Base class pointer cannot point to derived class.
(B) Derived class pointer cannot point to base class.
(C) Pointer to derived class cannot be created.

(D) Pointer to base class cannot be created.
e FEOIYNYY 000 E';evéojod)& @bloSICY

(A) eJem® BTYT® WoOWOLITE, @693@; TR} BeesTIMHYOY
(B) édéag TQD°® DoO0E3T®, 2Je® a;azgxﬁﬁ VReSTIMHYAY
©) édéae QT ooV 0EIT® @do CROTVIMR) DL
(D) e3ex® FR 5 T TV 0E3TE @d) CROTVIMR) DL

13. Exception handling is targeted at
(A) Runtime error (B) Compile time error
(C) Logical error (D) Syntax error
aﬁw o &QﬁO@OﬁG Te FEYI0oR oim@ddo d0NDIE ?
(A) da"‘ﬁédf QTO° (B) 60&)9306 ﬁédoe ©Jo°
(C) e©owze® 0Jo° (D) oeygeEe 2goe
Space For Rough Work
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14.

15.

16.

17.

18.

Which of the following is used to implement the late binding ?
Virtual function (B) Operator function

(A)
©

Const function (D) Static function

F8OI ool ?p‘ogdd)& e3eeds 83930@0(76 VEBRTD HB3PeNTVTT ?

(A) dabzga‘oi)oe ?p‘og-’as
©) e, cﬂp‘ogaﬁ‘

To access a class data member using ‘this’ pointer is
O oba@dd)& TQT® W@oL3 dooaoo"‘d)n1 eazggmg Doorwen vBodeeNTIVMDIHTD ?

(B) eseTee308 cﬂp‘ogaﬁ‘
(D) K)&gwaﬁ‘ cﬂp’ogas

oD, HTh

(A) this->x (B) this.x
(C) “*this.x (D) *this-x
Identify the access specifier that is used as a default in a class definition
(A) protected (B) public
(C) private (D) friend
TS BHRed VY BFoer &h EFIYW CEa BBy
(A) BrIBw® (B) =ns®
(C) Bgdees® (D) Pow®

Which of the following C++ statement is true ?
JPYIEY oo C++ Bewd TO0INT ?

(A)
©

int *p=new int (B) int new=*p
int *new="*p (D) int *p=int new

A common property of logic programming languages and functional languages is

(A)
(B)
©
D)

Both are procedural languages.
Both are based on Lambda-calculus.
Both are declarative.

Both are Horn- clauses.

3B BREMMIONP JToRMBD &HI) Foahe o0 JoRe mabaa% rheeergeorizodd) ?

(A)
(B)
©
D)

DORBH FToANE DPOIE TORMTD
VB 6@5%@353& 303
DTBR FReRWoBEI0NES
VB TORE —~TYAAT

Space For Rough Work
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19.

20.

21.

Which of the following describes the overloading of functions ?
(A) Virtual polymorphism (B) Transient polymorphism
(C) Ad-hoc polymorphism (D) Pseudo polymorphism
6,30° Seeldon® uxpt @’OB;W SIS IINT TRYT BOIT ?

(A) dai)zga‘oi)eﬁ TOLITIODE
(B) €39Q0h0oeF Hoesedrode TP
(C) OTEHRET® HoLIWIODE B®
(D) Rixazg(i.xae ToLITIODE V®

C++ encourages structuring of software as a collection of components that are
(A) Highly cohesive and loosely coupled.
(B) Not highly cohesive but loosely coupled.
(C) Highly cohesive and tightly coupled.
(D) Not highly cohesive but tightly coupled.
A Foosheesornd TofjmrodeN S0ggodd Bodeidaba, C++ vvdeesdI
(A) B TOPIIB 2B VRO FBReBES
(B) éaﬁoﬁ DOFWIS 53 S8BT IR B0eB
(C) ez ToF3 DB Hed) PFI0od LeeBrd
(D) ®e3) FOFPWIN 03 86T PP &oewrs

ab

Given a binary tree, whose inorder and preorder traversal are given by
Inorder : EICFBGDJHK
Preorder : BCEIFDGHIJK

The post order traversal of the above binary tree is
330 3B YT T° Horie HRe SWET® £J9,0e3e ML Te @oRHT0SFT

eo%'}dzgdg : EICFBGDJHK

Md€d§d§ : BCEIFDGHIJK
e FENT oI PO HFE BeeRs SBEO® LBVEO® SHT ?

(A) IEFCGJKHDB (B) IEFCIGKHDB
(C) IEFCGKJHDB (D) IEFCGJKDBM
Space For Rough Work
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22.

The number of disk access performed by insertion operation in B - tree of height h is
h o308 B-&5Be Jedm0E FoadioeesO ©0we030 BIF TR, D& 200
QTE HTOMHIT ?

(A) O(1) (B) O(h?)
(©) O(h) (D) O(log(h))
23. The efficient data structure to insert/delete a number in a stored set of number is
(A) Queue (B) Linked list
(C) Doubly linked list (D) Binary tree
ﬁoﬁﬁﬁédo& BeadAW wordd redy 20w ﬁoﬁﬁojodo& JHedTen/
BN FHBRBEYN T TE F20W B F0Te3 adrehadDd ?
(A) By (B) @eeldB Y
(C) TR 2700 BpeddIB ?5% (D) 239356 de)g
24. The minimum number of nodes in a binary tree of depth ‘d’ (root is at level o) is
‘A 383 839336 de)gdgd 6&)@ Seewtny ﬁoﬁzg rD_"’ug ?
(A) 2¢-1 (B) 2%'-1
©) 2% (D) d+1
25. The postfix expression AB + CD - * can be evaluated by using
(A) Stack (B) Tree
(©) Queue (D) Linked list
e 38O o:ba@dab& 2BIZROT éJaemigc;bag DTHRN® AB+CD—*R$)°1 aﬁa&‘aﬁeéﬁdeoa%)d) ?
(A) Tags® B) R
©) &@5 (D) 2B0edd3 as‘%
26. The post order traversal of a binary tree is DEBFCA, then the pre - order traversal is
e3S0 B3 et ew@e0° eR@Re©® DEBFCA &038, ge e@e0° eedkee® abodwd ?
(A) ABFCDE (B) ADBFEC
(C) ABDECF (D) ABCDEF
Space For Rough Work
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27.

28.

29.

30.

The inorder traversal of the tree will yield a sorted listing of elements of tree in

(A) Binary tree. (B) Binary search tree.

(C) AVL tree. (D) B+ tree.
Be FYOT 0BT FTE YV GBET® LY BV FTE D0 TIED
ToELIEW® WYoDR, eBWIT ?

(A) e3=0 B3 (B) e}=0 Bnerdo w3
(C) AVL=&3 (D) B+ B3

What is the appropriate data structure for representing hierarchical relationship between
the elements ?

(A) Dequeue. (B) Priority Queue.

(C) Tree. (D) Stack.
03M8 IBWAI ?38956!@3 ﬁoaaocdddo& &)d.xa&‘*’m@dé’ VS ORIDOR B 0T3S
0350 ?

© Zz (D) wmgg®°

The minimum number of interchanges needed to convert the array 89, 19, 14, 40, 17, 12,
10, 2,5,7, 11, 6, 9, 70 into a heap with the maximum element at the root is

@ge 89, 19, 14, 40, 17, 12, 10, 2, 5, 7, 11, 6, 9, 70 oi)d)& M&)dg ﬁ@g
WO3BWRODN 20T Tod0o3TH JTOIJeTen @ﬁéﬁmﬁdod 90BTED RN
6&)&3‘ 50@8 0370 ?

A O B) 1

<O 2 (D) 3

A full binary tree with (2n + 1) nodes contain

(A) n leaf nodes (B) nnon - leaf nodes
(C) (n-1) leaf nodes (D) (n-1) non - leaf nodes

(2n + 1)RReEET 2,00 VOWREDE 339356 de)g@ Be 803 oba@dd)a BRODDIT ?
(A) n e9exm® e rivh (B) n doa® e9ex® Seemsrish

(©) (n-=1) e9ex® Jwertisd (D) (n—-1) To® e9eP® JeeBENIHD

Space For Rough Work
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31.

32.

33.

A special software that is used to create a job queue is called
(A) Drive (B) Spooler
(C) Interpreter (D) Linkage editor

e30e)° BRg R, BTN DYWE 20T HBe® 30TYod adje)wdd ?
(A) @ 3 (B) wgeoe

(C) QoL3T°Qe30° (D) e90Fees® H&E3TE

Block or Buffer caches are used to
(A) Improve disk performance.
(B) Handle Interrupts.
(C) Increase the capacity of main memory.
(D) Speed up main memory read operations.
2395° WPwo DPO° a—azgeseﬁéd)& oba@da‘oﬁﬁ DETIMNIT ?
(A) BT JBeBEBADHT, GoIrieyDen
(B) eom@esedriga, A dbTen
© dmaozg ﬁée)@oi) md)cﬁa‘zgdd)& BPITT
(D) dmaozg 5@@3 BT Foodree 3TEONR, L0WIOREWIT.

A relationship between processes such that each has some point (critical section) which
must not be executed while the critical section of another is being executed is known as

(A) Semaphore (B) Mutual execution
(C) Multiprogramming (D) Message passing
Béodeode, HHIBROWBT FLTO® DIONHR), IDESWWON, T »TeIOTHR

Fod) oJord (critical section) r‘i%}‘do& BROOHDE By [T ﬁoeoocﬁddo&
NHI0T F30DeIHIT ?

(A) JBoPsees® (B) OPT3 2&gHTed

(C) 22BIDIY (D) ®orWed Jwox

Space For Rough Work
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34. Pre - emptive scheduling is the strategy of temporarily suspending a gunning process
(A) Before the CPU time slices expires.
(B) To allow starving process to run.
(C) When it requests I/O.
(D) To avoid collision.
De-DO0R° VA0 WO OQ0M° BEabodbR, ToBgesseIonN
gﬁér’i@?"’wd B08woNa.

(A) CPU 5393&6 §éme @o@zgmrbd RPTeN

(B) Bpd30dhydha Byadoda, StTen eI
©) e I/0 d)& BFRedB PO

(D) ﬁoe@’aﬁss@dm& 3Bdaden

35. Inround robin CPU scheduling algorithm as the time quantum increases the average turn

around time
(A) Decreases (B) Increases
(C) Remains constant (D) Varies randomly

020%° 0o29° A3 aa’rixazgeeorﬂe @d@@ddfﬁg 5393@06 agowdf &?a&gdoé’
D00TVD 3¢ 9T20r3® 5393&6

(A) 3BTRS (B) Besgrh3d
(C) ZBTADITS (D) o3eypsaen dEaRaerhga.

36. Consider the following page trace:
4,3,2,1,4,3,5,4,3,2,1,5

Percentage of page fault that would occur if, FIFO page replacement algorithm is used
with number of frames for the JOB m =4

ge FEOS PHeaz® edex® @ 4, 3,2, 1,4,3,5,4,3,2, 1, 5#1%1 B0edd, FIFO HBees®

Oeggem®edoe® edpddew®a, JOB m = 413 Fesberdd Toadriteodr
ABIBROBT T0IDDABDIWOE eI’ amo:;d BeFBHT DTNDLIT ?
(A) 8 B) 9
(C©) 10 (D) 12
Space For Rough Work
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37.

9

If an instruction takes ° i ’, microseconds, a page fault takes an additional ° j
microseconds and on an average a page fault occur every ‘k’ instruments, then the
effective instruction time is

20T APV 1 d)éé@ ﬁéowﬁ‘ﬁs"a{)& BIDBFROB3 20T e Foer 0T
5 d)éé@eﬁéoweﬁéd)& éﬁd)é@éggd DA 0w JITIO Beas® ?p—oe):;ﬁ 28 k’

TBRBIOL TOPAIBES, et wémdoDééé PRI edyed® e3ITI.
(A) i+j/k (B) i+j*k
©  (+p/k (D) (G+)*k
38. The octal number to be given along with ‘chmod’ command to make a file readable,
writable and executable to the owner, readable and executable to group and others is
200 TBIV, #0eesIN LHLETOZ T0dNB0IF T ATE HWHOZ oW
20w o DI PB30rT  LHEDHTOIS Ve HbROBOIZ  @oewe  chmod
e363e3WRODT Boewaleson 9;9%;&76 ﬁoaé;g 0350 ?
(A) 000 (B) 755
(C) 744 (D) 555
39. checks type field in the file’s inode structure.
(A) Shell (B) Kernel
(C) Compiler (D) Assembler
FBIY Odeer® JesSodey o PpeeSs, 203ee90ITI3.
(A) Be® (B) BIcess
() oz (D) oo3nexs
40. Which option will be used with ps command to slow the entire command line of the
process being run ?
200 JFBoIEDB BFoDodh Jompee ©Bed ToOR), IFPITMUOYTLD QOT®
3533 RO 28I e;eoigoil) 0350 ?
A) -4 B) -f
© -1 (D) +4
41. Many causes of the software crisis can be traced to mythology based on
(A) Management myth (B) Customer myths
(C) Practitioner myths (D) (A) (B) & (C) are true.
S03903 asggd e a—adsaﬁ's’d)& _ @hedd e35003w0rd D0T0EY
TRV WNT.
(A) dﬁdas’dsa T TeNIBD (B) mMo®s oTonEd
(C) &)8Med @ooerLh (D) (A) (B) &= (C) nsb =D
Space For Rough Work
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42.

43.

44.

45.

is an “umbrella” activity that is applied throughout the software engineering

process.
(A) Debugging (B) Tasking
(C) Designing (D) Software quality assurance

20 BO0TYoB  DoeAOLOON® FFohad ewgdEY PO
“e908Je79” 2363083698 0300NT.
(A) B200r® (B) =0eg o)
(©) &mgﬁr’x@@a’pﬁm (D) So=go3d rbsad)%d 02333

In estimating the software cost the Lines of Code (LOC) and Function Point (FP) are used
to measure what ?

(A) Length of code (B) Size of software

(C) Functionality of s/w (D) Both (A) and (B) are true
B039033 ﬁagddo& ORI RYTILI 693&5 s BFew®(LOC) morie as‘ogae

oo oex® (FP) ﬁ‘E’Rﬁ)& oim@dd)& EI3DTBEN VFTVIOIE ?

(A) ToBe3x vz (B) So=903ad mog

(©) s/wa Toode dIE BB (D) (A) &=y (B) o8B0 30
What is the equivalence partitioning method that divides the input domain of a program
into classes of the data from which task case can be derived ?

(A) White box testing (B) Black box testing

(C) Orthogonal array testing (D) Stress testing
20T ZEAHOD NPRE DYDY, LOT; Fe YD), S0IOTDIHT BIW

FYTPTRY, DONBTE BegBSRS HLIE R/AOM® AP 03ToLIHT ?
(A) ﬁéws e85 Boed (B) eygs® eo5s ClelS
(C) epoenIeo® ede I0ed (D) gxﬁ B0
In a function oriented design
(A) Cohesion and coupling are minimised.
(B) Cohesion and coupling are maximised.
(C) Cohesion minimised and coupling are maximised.

(D) Cohesion maximised and coupling are minimised.
20T F00379E2J00 VODOHI &mﬁﬁdg

(A) RoPud D) Boedrritd s
(B) RoPud D) Beedrrid o3
(€) RBoFeSodn BRIV ) heedrdritd &3
(D) RoFeSodn HHZE Fd) Aeedsri )3

Space For Rough Work
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46.

47.

48.

A process model that removes defects before they can precipitate serious hazards is

(A) Incremental model

(B) Spiral model

(C) Clean room software engineering

(D) Agile model
M0gedeer WRLIEHER)0e0EIBS Berdde BoeRMTR), SIBTOE BFaIe
@00330 :

(A) Y803’ BT

(B) F300° owd

(C) gex® Trw® masga"eoe D028Q0HBoME
(D) edye® ©37030

Software safety is a activity that focuses on the identification and assessment
of potential hazards that may affect software negativity and cause an entire system to fail.

(A) Risk mitigation, monitoring and management
(B) Software quality assurance
(C) Software cost estimation

(D) Defect removal efficiency
BOoTYOZB WTTI, YW I0TY0B TZToUoZTI &) WOTW VOBREE P
APODDAFTOD Deed HOmoed weddw TBDPe WWIWBIE MHVEWAT DR

ddaeszgeﬁdsad el ADINOD 20T 2360395 030003.
(A) 0= AT, BIoe3doMs, dngéeeaedoowe
(B) mw:;ﬁeos TYLIEI Chebela
©) mw:;ﬁeos B[S a?‘gdoeefas
(D) BT bR dHdoD
On an average the programmer months(pm) is given by 3.6 * (KLOC)'?. If so, a project

requiring one thousand sources instructions will require
3.6 % (KLOO)” & Shweed dgerpabo® @0zs(pm) 3, AeBdeoNt, HormaEs 2,060

TODT 3BT VB3I @deﬁzgééo&)d)d HeIAVICIDI =, BeeDI3.
(A) 3.6pm (B) 0.36 pm
(C) 0.0036 pm (D) 7.23 pm
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49.

50.

S1.

52.

A relation of COCOMO model is

Be 38AT ad7exx)cd> COCOMO 308003 F0220RFmNT 2
(A) E=a*(KLOC)® (B) E=a*(KLOC)
(C) E=a*(KLOC)’ (D) E=a*(KLOC)®

If the number of conditions in a decision table is n, then maximum number of rules
(Column) is possible is
200 Qepeod Doy WORME Tosjodn n @HPY, dadbed(column) ¥
0023xBRe0d ﬁ@g ﬁoﬁzgoil)

(A) n (B) 2n

(© 2" (D) log,n

For a database relation R(a,b,c,d), where domain of a,b,c,d include only the atomic values
the functional dependency a=>c, b->d holds in the following relation in

a,b,c,d o a—aojoa‘gegd) esedeese ddaozgﬁf}do& D00 2ERORE B0
002003 R(a,b,c,d)3, To0edB vxB02a3 a=>c, b=>d odv B FEOHI odred)B3REN
BRODHIT ?

(A) 1INF not in 2NF (B) 2NF not in 3NF

(C) 3NF (D) INF

B+ tree is preferred to binary tree in database, because
(A) Disk capacity are greater than memory capacities.
(B) Disk access is much lower than memory access.
(C) Disk data transfer rates are much less than memory data transfer rate.
(D) Disk are more reliable than memory.
B+ &,5% 370 &353803 ©39033¢ @cﬁzgéo&)d, NBFOTT :
(A) &= mqu‘%s@ DO md)cszgsgo@ éa&gﬁd
(B) &= 98T D DO 8ZINH0B APoITNA

(C) & B3IV DJneedrd TOY D0 BZ BeePrBod BIoI wHY
BB 07N

(D) BT DRedMvNHOT xBYR) S0BTT BFHEDNTIT.
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53.

54.

5S.

56.

Which of the following is true ?
(A) Arelation in BCNF is always in 3NF.
(B) Arelation in 3CNF is always in BCNF.
(C) BCNF and 3NF are same.
(D) A relation in BCNF is not in 3NF.

e FEOIPNYY 0dohadd 080N ?

(A) BCNF 393 8020053 3NF 3¢ odroworiene Qa3
(B) 3CNF s 8020053 BCNF 3¢ odroweriene qd3as
(C) BCNF &3y 3NF b 2,063e esHh3es

(D) BCNF 3@dha co20338) 3NF 38 38

If in a tree, for every node the height of its left subtree and, right subtree differ almost by
one then the tree is

(A) Binary search tree (B) AVL tree

(C) Threaded tree binary tree (D) Complete binary tree.
200 BT TS Feewer HBIBOD T ONBOD LVDT)BIY HTTD) 50@8

1 3®) BB APT, & BT
(A) 30 mes°e ege (B) AVL we
(C) Zdw® e e3TO e (D) Bogeer 40 ege

How many character per second (7 bits +1 parity) can be transmitted over a 2400 bps line
in case of synchronous data transfer ?

OR) VFTONER, T8 JFokr (7bits + 1 parity)r§ 2400 bps 0°Vey d0BLe[T®
BY BMoE BB OE CDTAVBI) ?

(A) 300 (B) 240

(©) 250 (D) 275

Decryption and encryption of data are responsibility of

(A) Physical layer (B) Data link layer
(C) Presentation layer (D) Session layer
BEDD° DB IVET® BZ 03I0IBE @2e0egd ?
(A) @xze® Seado® (B) wsocdo 908° e3eado®

(C) wBoedean® edeodod (D) 5%&6 e3ecdHo®
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57. Which of the following are session layer check points ?
(A) Allow just a partition of a file to be resent.
(B) Detect and recover errors.
(C) Control and addition of headers.

(D) Are involved in dialog control.
YOI 0370 Ignee3eado® 253° HooW oL HIFaNT ?

(A) Feldo 2,03 TBIB epaﬁddo& DTy THHITLD 9T SIPTD
(B) 3IFR, To@&BINPT B TO BRI

(O) BBoE Bueerdrd DI J0DoZew eI

(D) Togremes QodoZerdeer werteyggdhs:s

58. What is the maximum size of data that the application layer can pass on to the TCP layer ?

(A) Any size (B) 2'°bytes
(C) Size of TCP header (D) 1500 bytes
w@Femn® Beado® TCP Beadoeri FEL&HTDTODR FoetolW MOF MoZ:Dd)

(A) ode)de MoBBTIOWD
(B) 2'° s rizeNdaadwd

(C) TCP BBE0° Me3BYTROT
(D) 1500 2}ePriveNTamOwD

59. FDDI stands for
(A) Fibre Distributed Data Interface
(B) Fully Distributed Device Interface
(C) Frequency Data Digital Interface
(D) Fibre Data Device Interconnection

FDDI 0333

(A) ?Séeoce @?:)ngaé’we WOELJ0 QYOL30TPHPET®
(B) o @gngﬁswe @ﬁéxﬁ QOL3ITEHeTE
©) @eg(‘g WotJo B3I’ [OL3ITEHeT®
(D) ?Séeoce BOLIO @a”éxﬁ aowoeéa"gas
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60. The delay that occur during the playback of a stream is called

(A) Stream delay (B) Play back delay
(C) Filter (D) Event delay
?‘gedfd ge a:azgae BOWPE T &éoamﬁo@dé’ HJ0w F3030B3 ?
(A) ?‘gedf DE0D (B) e api DE0D
©) $0° (D) ®edldoer® o

61. A binary relation R = {(1,1),(2,1),(2,2),(2,3), (2,4), (3,1),(3,2), (3,3), (3,4) } on the set

A={1,23,4}1s

(A) reflexive symmetric and transitive

(B) neither reflexive nor irreflexive but transitive

(C) 1irreflexive anti-symmetric

(D) irreflexive symmetric and transitive.
e}S0 d&ema® R={(1,1),(2,1),(2,2),(2,3)(2,4),(3,1),(3,2),(3,3),3,4) }& meo A={1,2,3,4}
3 el angaoazg&)&bmﬁ 3803 oim@dd)& 3@&Jw®"’m§d’ ?

(A) OFPsw®, WYT® B0 YYeD°

(B) 08w 0y, 00PN @0 8F3 19QN® NI

(C) XT°0PER®, 063 AAELYT®

(D) 390°0g8=°, dWWE® S0w° YLoe®

62. The proposition p~(~p v q)is
(A) A tautology (B) A contradiction
(C) Logically equivalent to p*q (D) both (A) and (B) are true
D8O pM(~p v q) T FENOR 0o BN 2

(A) ePe3oeeros

(B) BoowRT™®

(C) p"q 1} ooxzee Begadedor®
(D) (A) @3 (B) 28B» IO

63. In propositional logic which of the following is equivalent to p—q ?
T3 IFeRY Te FINT oD p—q i BRWNT ?

(A) ~p—q (B) ~pvq
© ~pv~q D) p—-~q
Space For Rough Work
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64. Which of the following is a declaration statement ?

(A) It is beautiful.
(B) He says “It is correct”.
(C) Two may not be an even integer.
(D) Tlove you.

e FYNT adoxh)cdh BFTewm~® PeerreHoer enNd ?
(A) e’ 9T° angwai)oe
(B) &e Jem® “ge° 93° 53T
(C) €30 ade Mo’ 293¢ I° YIS [YOLIRTE
(D) = ox° ot

65. (G,*) is an abelian group, then
(A) x=x "1 belongs to G, for any x.
(B) X=x" belongs to G, for any x.
(C) (x*y)’=x" * x" belongs to G, for any x and y.
(D) G is of finite order.
(G,*) @ 22390HA® ND® 8w3d
(A) adeyde x 13 x=x"' &) G aDYHII
(B) ododxde x 13 x=x2 @ G 03
(C) o3xk)de x DB y I x*y)»=x2*x2 @ G oH D3
(D) G &) BOWS D woNHHITI.

66. How many distinguishable permutation can be generated from a word “BANANA” ?
“BANANA” 202 SIBHOR o&) 23ed 2Jed b doerdmirga), tu3STDTOD ?
(A) 720 (B) 60
(©) 240 (D) 120

67. The term 245+8+....... +(3n-1) is equal to
2+5+8+....... +(3n-1) T-«ioagﬁ%fa ﬁadé’& AT

(A) @ -2 (B) n(n+1)/2
(©) n(Bn+l)/2 (D) n@3n-1)/2
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68.

69.

70.

71.

72.

The 2-D translation equation in the matrix form P is equal to

dng@aj Je330y™ 2-8 epJSemin® segemn® P’ odo oim@di?&,—w’ﬁa ?
(A) P+T (B) P-T
(C) P*T (D) P

All the hidden surface algorithms employee image space approach except which one of
the flowing method ?

(A) Back space removal (B) Depth buffer

(C) Scan line (D) Depth sort
DY HWI® TPE eT® @d@@cﬁdfﬁﬁb FEOS 00D DPOIB BRTToH [Yaoeas®
e vBgessd), VYBRTVIA ?

(A)  erges® Je® Ddoder (B) @B apos
(C) ggne &393&6 (D) B Toee

Oblique projection with an angle of 45° to horizontal plane is called as
(A) Cabinait projection (B) Isometric projection
(C) Cavalier projection (D) Diagonal projection
Be FEYNT 00D 7@ TDHIEF 45° eI @gg&xazg (oblique) Bgeeddn® esHA ?
(A) Tyedadewr® BeEzn® (B) Dldeeshys® Bpdza®
(C) BDd0bO® Bedsa® (D) BWoderiner® BrEE~e

What is the prototype of the default constructor for public class test() ?
public class test() BBV BPoe)S FVCLIFTOS Bpeloecdm® adehadd ?
(A) test() (B) test (void)
(C) public test () (D) public test (void)

Which of the following method belongs to thread class ?
NS 00w DPoIY) F® TR TOVOKITW ?
(A)  wait() (B) join()
(C) notify() (D) sleep()
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73.

74.

75.

76.

What is the priority of the garbage collector thread of the JDK ?

(A) Low priority (B) Highest priority
(C) Median priority (D) Decided at run time
BBZOD mg"eeae 6&5’§OG Qe @d.ﬁé’ 035 ?
(A) TBD esdzgé (B) égd esdzgé
© d)cdzgd) esdzg@" (D) Ox® Pevodhey AR BRR)T

Which one of the following method is used to obtain values of invoking object as a long ?
T80T ool &mdﬁ@l Yo RPedons e;eaga:; e;ezgme @D €P0MN° D02VTIT

B30, FomE&BADe pumodeeNTTYT ?

(A) long value() (B) longlongValue()
(C) Long longvalue() (D) LonglLongvalue()

Multimedia system require hard real time scheduling to
(A) ensure critical tasks will be serviced within timing deadlines
(B) deliver the media file to the client
(C) minimize the delay

(D) ensure security
DI, DBT VAT BDeyeRdodTe dFer! Towoe Oeoder febr Rdggeson®

desordI3a ?
(A) Beazed mmgﬁf}d)& QB3 Behodbh@dgode @BodE oETR)TO
(B) oedadio ?39306#1)& ﬁéowﬁ 00T mmd)dm&
©) a)%?oaaddo& TR Jjowen
(D) dgeadab,

MIDI stand for .
(A) Musical Instrument Digital Interface
(B) Musical Instrument Digital Instruction
(C) MP3 Instrument Digital Interface

(D) Musical Instrument Design Interface
MIDI ©0@3 :

(A) ngaaoe YN0 Bese3e® YoL3veFHeT®
(B) Sugglze® 9o Bese3e® 9swysn®
(©) MP3 393°e3a0e® Bese3er® Qoe3vsges®

(D) ngaaoe Jreoe® éﬁéaﬁ‘ QOL3ITEPHeTE
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77. Which of the keyword can be used inside any method to refer to the current object?
(A) new (B) delete
(C) finalize (D) this
odToR)Te aicgéoixaéﬁ F30e° e;eaga:;d)& pugdeden ool de  PWE
eVD03eNTTIT ?
(A) dtazg (B) &e9es®
©) ﬁédé’émﬁ‘ (D) &=°
78.  Which of the following is TRUE only for XML but not for HTML ?
(A) Derived from SGML.
(B) Describes control and layout.
(C) Allows user defined tags.
(D) Restricted only to be used with web browser.
B3OS 0P  IFTR0DPr] P8 I00eNW  8T3 BeItLID0eer
TOVORRIDH)DY ?
(A) SGML dod& @693@;‘ 3033
(B) 3t Fodreer ) 6e@wsﬁ%‘}d)& QI3
(©) 8 odweo® @@’éd(zﬁ‘ wazgﬂjdo& DD STITI.
(D) 3 Ser° eP0Reodrt &Breg svBadeeNTen JVE0HIYYDIT.
79. The XML DOM object is
(A) anentity (B) anentity reference
(C) acomment reference (D) acomment data
XML DOM e;eaga:;@ FBOI 0o ?
(A) @093 (B) @0t BHTBS
(©) Bocdoer® SP3° (D) Boadhoer® wwoLIo
80. Which JavaScript features uses JAR files ?
(A) Stylesheets (B) Object signing
(C) Netcaster channels (D) Image rollovers
eo0° &ééﬁf}do& odjos3 eZowo %)w:; $e30°80 eo's’&)éta's’g§c3 ?
(A) FB3o° dees® (B) eogfzs Foor®
(C) RVeP*BoFo® FE, (D) ezt doeersudcs
Space For Rough Work
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81. Computing the binomial coefficient "C, is an application of

(A) Divide and conquer techniques

(B) Decrease and conquer techniques

(C) Transform and conquer techniques

(D) Dynamic programming techniques
a%d;ae&ooi)eﬁ Bpeaddadoer® "C, @d)& FTOBISBOINFTD wHTeS®
es03.

(A) B[ I Fogo® oy

(B) ®gex® 2HI) sogo® oY

(C) eRIEPoHE DI FoFo® I0IY

(D) @oosnz® Bermpooon® 3ognd

82. The worst case time complexity of the sorting algorithm by using divide- and -conquer is
BFEe DI Togo® IP3odb, evBadeeNITLo@  FhweH LeedTo
©0e3Redr e 3 ge—g B0H B 3BT 0370 ?

(A) O(nlogn) (B) O’
(C) O(n’log n) (D) O(log n)

83. The application of transform-and-conquer technique is
(A) Merge sort for sorting a list
(B) Gauss Elimination for solving the system of equations
(C) All pairs shortest path
(D) Minimum spanning tree
9N PoTE BT Foy_0NT° J0TW WyBeB°

(A) e ToELIE PoU® TRLYEOMT® 93

(B) éegeeiae as‘cg@ojodo& DOBOTEN MOT® eI
(C) ese® PBeoe 2335395:; TP

(D) T HeQoN® &3¢
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84.

The travelling salesman problem can be solved in
(A) Polynomial time using dynamic programming
(B) Polynomial time using branch and bound techniques
(C) Exponential time using dynamic programming/branch and bound techniques

(D) Exponential time using back tracking
Do ©IP0ENETR Jeeadad, BO0HeT @rewen

(A) ToodnT® BRIMPAON®  DEYIZEOBW  ToTOOO®  JeHod
eu03eeNdon deFard3ad

(B) emgoes® HBY ePor® ToZ 2YIBWLOBW  DHoWTOODE® HEOD
eu03eeNdon leTard3ad

(C) cmod0T° BRMYMON® / eJge0es® I &P0m° SoFNYTY YFIBLOR
DT BRIYodh e Jehod Bezorb3al

(D) 2955° £3980M° DEIBEROW DT FRIYoDe® Tad BezarbIcs

85. Given 0 — 1 knapsack problem and fractional knapsack problem and the following

statements:
S,: 01 knapsack is efficiently solved by using Greedy algorithm.
S,: Fractional knapsack is efficiently solved using by dynamic programming.
Which of the following is true?

(A) S, is correct and S, is not correct

(B) S, and S, both are correct

(C) S, and S, both are not correct

(D) S, is not correct and S, is correct
0 -1 knapsack @@  fractional knapsack TIerigdad, &g HF FEOI
BewBNER, MDD :
S;:0~-1 knapsack &=, New® ©8Rd@RPT TDTES DFFONOT BOBHOTLNTS
S, : fractional knapsackeo®), TWTOT® BREMEET JPBJET  DEFONOR
BOBOTTDHPHTN. 313 Te FEOHT 03D 03N ?

(A) S, 30 DIy S, 3|

B) S, IF S, o0@e IO

(©) S, DI S, 0@ 3T

D) S, 3R DI S, IO
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86.

87.

88.

89.

Bresenham line drawing algorithm is attractive, because it uses
(A) real arithmetic only (B) integer arithmetic only

(C) floating point arithmetic (D) real and integer arithmetic
éefasngdf 118 o8adna @d@@ddf eITRE S, DFOTT AT YVTOILCNTITYTH

(A) Boder uredes® @303
(B) @ommoe08 WPEDNT 3003
(C) Fesorn® HooDOL® WPE aDEeIT®

(D) Bodbher HIB) BRETE 0T WTE DITE

The Newton—Raphson iteration x_; = (x,,/2) +(3/2x ) can be used to solve the equation

Ri@zgwae—oazgaﬁaed, e3ded®® X, =(x,/2)+(3/2x) ab& YOI adbesd BT

n+l —

BOBOT FToBISHB0IHN B3 PENHTDBOT) ?

(A) x* =3 (B) x’=3
(C) x*=2 D) x’=2

A root of the equation x> — x — 11 = 0, correct to four decimal using bisection method is
ey BB w° ﬁcgéoi)d)& gumadeedd x3 — x — 11 = 0, BeTTB), VRV
x @ee ddadn Teey BTeodrivri e FENT adies 20w Tosk BOAINDLIA ?
(A) 23737 (B) 2.3838
(C) 2.3736 (D) 2.3837

The order of errors in the Simpson’s rule for solving a numerical integration with a step
size his

QOBR®  JobEDBY  ‘h' MeZ-mo3BW  Igehdze®  owedn®  ©OFHT
FOWIHBOINVWN BReRME Thw) FENIT 03708 DoNDIE ?

(A) h (B)
© (D) h*
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90. Match the following :

91.

“ RO

(A)
(B)
©
(D)

Be BENTPME, BR0BD B0 :
1.

P.
Q.
R.
S.

(A)
(B)
©
(D)

Newton — Raphson
Runge — Kutta
Gauss — Seidal
Simpson’s Rule

Q R

—_— W N g
W H~ = W1

3
2
4

W N =

4 1

[\

ngwas—oaﬁae
dor-30e39

&3
Morf-derder®
0TS Q0
R

A= W N Mg Qe
e L AN e
W N =

N W A = W

Ll O

2
3.
4

Integration

Root finding

Ordinary Differential Equations
Solving the System of Linear equations

QowrieR®

DR FToBGBOINP)TD

3030 BPBJodher egeR®
©9Q0DHT® T0eFTERTR, VBWFHT

Which of the following is a data warehouse ?

(A) Can be updated by end users.

(B) Contains numerous naming conventions and formats.
(C) Organized around important subject areas.

(D) Contains only current data.

e FFNTYMYFY 0l B 3e0°BOT° 30T 2

BRI 0BFD0R 9DRBLF BIeBDHBOENTS

WReT DI 3230380 &R FeD dzgdgﬁs‘do& BROBDDIE
T HROD FeTM¥ T VOFLIITLROBDIA

Fedo TRT BFIBR), oF BRoDDIT

(A)
(B)
©
(D)

A-1
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92.

93.

9.

Which of the following is a Fact table ?
(A) completely denormalized  (B) partially denormalized

(C) completely normalized (D) partially normalized
e FEOIYNEY odro)ad DOgTS e3e20e3® esNT3 ?

(A) DozeeatewoN BeTeLTe NI
(B) erorizs @mdéé’éme e3HDHI T3

(C) Tozeeae 0N D03 NI
(D) ejorizs mdéé’éxﬁ e3HTLI .

The load and index is a process to

(A) reject data from the data warehouse and to create the necessary indexes.
(B) load the data in the data warehouse and to create the necessary indexes.

(C) upgrade the quality of data after it is moved into a data warehouse.

(D) upgrade the quality of data before it is moved into a data warehouse.
Bdrer® DI [owse FFadodw

(A) W WO HOTEAOT @otIoR, SCJOWHT  Forie
[OWFIF, Teshad Bgod

(B) wotdo 3e0t®mO°Se @wotroR), et [ewdE  Forlwe @deﬁzga-’

QoBse YR, Jesrdz Fgod

(@) mmdm&, WoLJ0 WeO HBOTERRBM 3edABW J033 9o rbsado%dd)&

D[REDIT.
(D) woesRsEs, Woeso BeoSBOTEI RGBT  Jedam Bwoas3se
oeeshedRRh, BHEDIE.

In star schema, a type of relationship between a dimension and fact table is

(A) many-to-many (B) one-to-one

(C) one-to-many (D) many-to-one
aley &gemd 20T té’édogae AVCY) @Qﬁﬁi Jeef s SBWAT T0VOFRB PO
o3 ?

(A) DDI-30- B) aaf-e0-2on°

(C) aaf-e30-3Q D) DI-e0-2o°
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9s.

96.

97.

Which of the following is Transient data ?

(A) Data in which the changes to existing records cause the previous version of the
records to be eliminated.

(B) Data in which changes to existing records do not cause the previous version of
the records to be eliminated.

(C) Data that are never altered once they have been added.

(D) Data that are never deleted once they have been added.
F8NIYNEe oado)ad wgzgéj\u)oi)ows w@otJo 30T ?

(A) @r}ggdgdod SBoGfenyr) 237N, BFTEP NG &oOI esde)goi)d)&
B BoFTQBOF(] FoTroeore WoLJo

(B) @r}ggdgdod SBowtenerl 2@eTof), BB NG O™ esde)goi)do&
B TOBODF] FoTDNIW TWOLID

(C) 2,0% 2700 FedHAW JF0BT VOB 0TI WoLIo
(D) 2,06 2700 FedIBW J08T Dobde IITOTYBE BoLIo

Strategic value of data mining is

(A) time-sensitive (B) work-sensitive

(C) cost- sensitive (D) technical-sensitive
B3 NedredFad SJeode303 diaozg@ e FENIYNEY 0drox)woNd ?

(A) 303 mgéé (B) Fow mgéé

(C) @3e3ad Rixagéé (D) =008z mgéé
The term refer loosely to the process of semi-automatically analyzing large
databases to find useful pattern.

(A) data analysis (B) data warehouse

(C) data mining (D) knowledge discovery

200G POTOINT FPBOODR), WBBRYWTYN I eedpesdeze wod0M®
e Wotdo 23eT® FFodah, LvedesE B

(A) WOELID DOIDTE (B) w@otdo 23e0°HOZT°
(C) oo d)ééi)orﬁ (D) mdw; @R’gd@
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98.

99.

100.

Meta data is used by end user for the purpose of

(A) managing database (B) querying
(C) making decisions (D) structuring database
2DeTe BZB, 3RF0D BB odress Foded svBodeeNTTYTS ?
(A) TW3033 e B33 (B) @’é&a’nd evgded
(C) Qeeeod T[romen (D) BS03W TOTIIJ0Y

A type of classifier that gives accurate classification across a range of application is

(A) Binary split (B) Multiway split
(C) Opvertitting (D) Support vector machine
DeJY @Qeéeaﬁaeﬁéd)& 0003700 DorRIB 20T 230D a;ac?@’éoi)oe 0370 ?
(A) 30 & ° (B) hegyle & e°
(C) &Boopegon® (D) mBeeere PB890° share®

Data scrubbing is a process of
(A) rejecting data from the data warehouse and to create the necessary indexes.
(B) loading the data in the data warehouse and to create the necessary indexes.
(C) upgrading the quality of data after it is moved into a data warehouse.
(D) upgrading the quality of data before it is moved into a data warehouse.

@oeTe JRPOTP, Te ZFabodn

(A) o B0 EOTN0T BoLoRR), STPOWIAW &) widy [oWFSIYR,
Cesr03al.

(B) @oo  Weo°TOTR0B  TotobR), Heer®  @S@d3IB BB  wrisg
QOBTE YR, TBWIT.

©) mmdm&, WoLJ0 WeVSHBOTERIRB JedIW <033 9rd3 rbsad)%dd)&
[OEDI.

(D) mmdm& BeotBOTEI BT JedDT  @Wwoes3de 93 mwm%dm&
[OEDI.
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The number of one’s present in the binary representation of 10 X 256 + 5 x 16 + 5 is
10X 256 + 5 16 + 58 2380 Qde@rsodey $osk 20w OF) 00 DI ?

(A) 5 (B) 6
<o 7 D) 8
2. In which of the following gates, the output is one, iff atleast one input is one ?
ge FEOT odoad ey 6&)§ BT 200 BRBE (input)odn 20w e:?ﬁcgé’,
Qe®F (output)o3dn 20T 8HTOLIE ?
(A) NOR (B) AND
(©) OR (D) NAND
3. The hexadecimal number for (95.5),, is
(95.5),, 7} BB9WIDe® (hexadecimal) ﬁoﬁ.ﬁ 0370 ?
(A) (SE.8)4 (B) (9A.B),
(©) (E.F), (D) (5A4)6
4.  Which of the following sets of component(s) is/are sufficient to implement only arbitrary
Boolean function ?
(A) XOR gates, NOT gates
(B) 2 to 1 multiplexers
(C) AND gates, XOR gates
(D) Three - input gates that output (A.B) + C for the inputs A, B and C
Be FY¥TOW 0droxd FeT(MY) Meord 0o)de ARII0BS 22030 a‘aoi)a‘dd)&
OTDTYATOO ToTOVIW ?
(A) XOR rlee’rigb, NOT rIee®risd
B) 2tol d)%gg’goeﬁsb
(C) AND rleex®*righ, XOR rleessrigd
(D) A,B @3) C ad3nur (A.B)+C e@d3Ngod @t dedd riee’risd
5. Consider the following pseudo program segment :
ge IO T epaﬁr‘f%'}d)& Cilelatold
if (a>b) printf(“a>b”);
else printf(‘“else part™);
printf(* a<=b");
a<=b will be printed if
(A) a<b (B) a>b
(C) a== (D) Inall cases/ €13 TOWIeTIELY
Space For Rough Work
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6.  Match List I with List II and select the correct answer using the codes given below the

lists.
List I
P.  while loop
Q. do while loop

R.  for loop

S.  continue

T. break
Codes :

P Q R
(A 1 2 3
B) 2 1 3
< 3 1 2
D) 4 1 3

NI N O N )

List II

1. Executed at least once.

2. Are used when it is known that how many times
loop is executed.

3. Are used when we want to loop until certain
condition was met.

4.  Put the control starting of the loop.

5. Put the control out of the loop.

T

5

5

5

5

e FEOS By 1 DI By 11 ), BeodID DI JYY T By
00FeIBMyor TOOIRE Y0ITBR), 8OHTIk.

aﬂg—l
P. ﬁéeﬁ SVl

1.

Beg-11
TR T 20w 2300 FooherBriet)Ids

BD-HO® ORD®T 2. ORI &) o0 FooeTIBriRodE Do
SuOYM ¥TRHIT
R. $0o0° exoom® 3. Do) o) RBH)MER, ToHWBBe D°
00mwen 'aa;,g&)mﬁ DETIr IS
S. @womxd 4. 0D WY00g’ny AoHOoZTB), YOI
T. 33 5. ©R®IT BRI QoDoZTB), 0TI
Codes :
P Q R S T
A 1 2 3 4 5
B) 2 1 3 4 5
© 3 1 2 4 5
(D) 4 1 3 2 5
Space For Rough Work
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The function sprintf() works like printf() but operates on

(A) datain a file (B) stderr
(C) stdin (D) string
printf() 803 sprintf() FOT FIPBII. WS __ 3 &oee Fooe AWE HROBE
(A) TBITY BB (TeoE) (B) stderr
(C) stdin (D) string
8.  What is the effect of the following pseudo ‘C’ program code ?
for(int i=1; i<=5; i=i+1/2)
printf(“%d”, 1);
it prints
(A) 1,15,2,25,3,3.5,4,4.5,5,5.5 and stops.
(B) 1,2,3,4,5 and stops.
(C) 1,2,3,4,5 and repeats for ever the same sequence.
(D) 1,1, 1,1, 1, and repeats for ever the same sequence.
Be B0odST C J0Fe3rT BOwoed ?
for (int i=1; i<=5; i=i+1/2)
printf(“%d”, 1);
(A) 9 1,1.5,2,25,3,3.5,4,45,5,5.5 @0HDIT &HIR) QLINIEI
(B) 9 1,2,3,4,5 S0QHIWB &HI3) QNI
(C) 1,2,3,4,5 S0QHIW D) edde @d)gd)dd)a VWO DVTOBSE WIS
D) g 1, I, 1, 1, 1 [oQHIB Doy edde @dogdodd)a A
DXV 0B SE WIS
9.  If the following ‘C’ program (myprog) is run from the command line as
C:>myprog Friday Tuesday Sunday then, what would be the output?
Be FYNT C DA (myprog) o), esi3ed TowvR0od C :>myprog Friday Tuesday
Sunday SBwori Qe®dF output HDNTITS ?
main(int argc, char *argv[])
{
printf(“%c” ,**++argv);
}
(A) m B) f
(C) myprog (D) Friday
Space For Rough Work
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10.

11.

12.

In ‘C’ program, if the condition is missing in ‘for loop’ then
(A) Itis assumed to be present and taken to be false.
(B) Itis assumed to be present and taken to be true.
(C) Itresult in a syntax error.
(D) Execution will be terminated abruptly.
C 3baH0DY Pott-s® 3@ d0r33adn a—azéojoaﬁcgd, est3

(A) ot  eUTBRNTB DO PATVOIDHIE  DIF) I H0w
2O HIL

(B) o e0@3Be0Ncd Howd 0DTIMDHIE &I TO doTb Gilelplnianigvcinl

(C) ozgdesdadey Wheed yLOLPHIT

(D) Bo0DedBe BTN DFToDS BRIOIIHIE

A type of class that allows only one object of it to be created is

(A) Virtual class (B) Abstract class
(C) Singleton class (D) Friend class
Feme 35& 20T @agagd)& BRITE NS a;azgmed 20D P
(A) Heoeaders 5 5° (B) e2°79Es 39 o7°
(C) dorne®n® TR gT° (D) Pows 557 0°

Identify the correct statement in the following:
(A) Base class pointer cannot point to derived class.
(B) Derived class pointer cannot point to base class.
(C) Pointer to derived class cannot be created.

(D) Pointer to base class cannot be created.
e FEOIYNYY 000 E';evéojod)& @bloSICY

(A) eJem® BTYT® WoOWOLITE, @693@; TR} BeesTIMHYOY
(B) édéag TQD°® DoO0E3T®, 2Je® a;azgxﬁﬁ VReSTIMHYAY
©) édéae QT ooV 0EIT® @do CROTVIMR) DL
(D) e3ex® FR 5 T TV 0E3TE @d) CROTVIMR) DL

13. Exception handling is targeted at
(A) Runtime error (B) Compile time error
(C) Logical error (D) Syntax error
aﬁw o &QﬁO@OﬁG Te FEYI0oR oim@ddo d0NDIE ?
(A) da"‘ﬁédf QTO° (B) 60&)9306 ﬁédoe ©Jo°
(C) e©owze® 0Jo° (D) oeygeEe 2goe
Space For Rough Work
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14.

15.

16.

17.

18.

Which of the following is used to implement the late binding ?
Virtual function (B) Operator function

(A)
©

Const function (D) Static function

F8OI ool ?p‘ogdd)& e3eeds 83930@0(76 VEBRTD HB3PeNTVTT ?

(A) dabzga‘oi)oe ?p‘og-’as
©) e, cﬂp‘ogaﬁ‘

To access a class data member using ‘this’ pointer is
O oba@dd)& TQT® W@oL3 dooaoo"‘d)n1 eazggmg Doorwen vBodeeNTIVMDIHTD ?

(B) eseTee308 cﬂp‘ogaﬁ‘
(D) K)&gwaﬁ‘ cﬂp’ogas

oD, HTh

(A) this->x (B) this.x
(C) “*this.x (D) *this-x
Identify the access specifier that is used as a default in a class definition
(A) protected (B) public
(C) private (D) friend
TS BHRed VY BFoer &h EFIYW CEa BBy
(A) BrIBw® (B) =ns®
(C) Bgdees® (D) Pow®

Which of the following C++ statement is true ?
JPYIEY oo C++ Bewd TO0INT ?

(A)
©

int *p=new int (B) int new=*p
int *new="*p (D) int *p=int new

A common property of logic programming languages and functional languages is

(A)
(B)
©
D)

Both are procedural languages.
Both are based on Lambda-calculus.
Both are declarative.

Both are Horn- clauses.

3B BREMMIONP JToRMBD &HI) Foahe o0 JoRe mabaa% rheeergeorizodd) ?

(A)
(B)
©
D)

DORBH FToANE DPOIE TORMTD
VB 6@5%@353& 303
DTBR FReRWoBEI0NES
VB TORE —~TYAAT

Space For Rough Work
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19.

20.

21.

Which of the following describes the overloading of functions ?
(A) Virtual polymorphism (B) Transient polymorphism
(C) Ad-hoc polymorphism (D) Pseudo polymorphism
6,30° Seeldon® uxpt @’OB;W SIS IINT TRYT BOIT ?

(A) dai)zga‘oi)eﬁ TOLITIODE
(B) €39Q0h0oeF Hoesedrode TP
(C) OTEHRET® HoLIWIODE B®
(D) Rixazg(i.xae ToLITIODE V®

C++ encourages structuring of software as a collection of components that are
(A) Highly cohesive and loosely coupled.
(B) Not highly cohesive but loosely coupled.
(C) Highly cohesive and tightly coupled.
(D) Not highly cohesive but tightly coupled.
A Foosheesornd TofjmrodeN S0ggodd Bodeidaba, C++ vvdeesdI
(A) B TOPIIB 2B VRO FBReBES
(B) éaﬁoﬁ DOFWIS 53 S8BT IR B0eB
(C) ez ToF3 DB Hed) PFI0od LeeBrd
(D) ®e3) FOFPWIN 03 86T PP &oewrs

ab

Given a binary tree, whose inorder and preorder traversal are given by
Inorder : EICFBGDJHK
Preorder : BCEIFDGHIJK

The post order traversal of the above binary tree is
330 3B YT T° Horie HRe SWET® £J9,0e3e ML Te @oRHT0SFT

eo%'}dzgdg : EICFBGDJHK

Md€d§d§ : BCEIFDGHIJK
e FENT oI PO HFE BeeRs SBEO® LBVEO® SHT ?

(A) IEFCGJKHDB (B) IEFCIGKHDB
(C) IEFCGKJHDB (D) IEFCGJKDBM
Space For Rough Work
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22.

The number of disk access performed by insertion operation in B - tree of height h is
h o308 B-&5Be Jedm0E FoadioeesO ©0we030 BIF TR, D& 200
QTE HTOMHIT ?

(A) O(1) (B) O(h?)
(©) O(h) (D) O(log(h))
23. The efficient data structure to insert/delete a number in a stored set of number is
(A) Queue (B) Linked list
(C) Doubly linked list (D) Binary tree
ﬁoﬁﬁﬁédo& BeadAW wordd redy 20w ﬁoﬁﬁojodo& JHedTen/
BN FHBRBEYN T TE F20W B F0Te3 adrehadDd ?
(A) By (B) @eeldB Y
(C) TR 2700 BpeddIB ?5% (D) 239356 de)g
24. The minimum number of nodes in a binary tree of depth ‘d’ (root is at level o) is
‘A 383 839336 de)gdgd 6&)@ Seewtny ﬁoﬁzg rD_"’ug ?
(A) 2¢-1 (B) 2%'-1
©) 2% (D) d+1
25. The postfix expression AB + CD - * can be evaluated by using
(A) Stack (B) Tree
(©) Queue (D) Linked list
e 38O o:ba@dab& 2BIZROT éJaemigc;bag DTHRN® AB+CD—*R$)°1 aﬁa&‘aﬁeéﬁdeoa%)d) ?
(A) Tags® B) R
©) &@5 (D) 2B0edd3 as‘%
26. The post order traversal of a binary tree is DEBFCA, then the pre - order traversal is
e3S0 B3 et ew@e0° eR@Re©® DEBFCA &038, ge e@e0° eedkee® abodwd ?
(A) ABFCDE (B) ADBFEC
(C) ABDECF (D) ABCDEF
Space For Rough Work
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27.

28.

29.

30.

The inorder traversal of the tree will yield a sorted listing of elements of tree in

(A) Binary tree. (B) Binary search tree.

(C) AVL tree. (D) B+ tree.
Be FYOT 0BT FTE YV GBET® LY BV FTE D0 TIED
ToELIEW® WYoDR, eBWIT ?

(A) e3=0 B3 (B) e}=0 Bnerdo w3
(C) AVL=&3 (D) B+ B3

What is the appropriate data structure for representing hierarchical relationship between
the elements ?

(A) Dequeue. (B) Priority Queue.

(C) Tree. (D) Stack.
03M8 IBWAI ?38956!@3 ﬁoaaocdddo& &)d.xa&‘*’m@dé’ VS ORIDOR B 0T3S
0350 ?

© Zz (D) wmgg®°

The minimum number of interchanges needed to convert the array 89, 19, 14, 40, 17, 12,
10, 2,5,7, 11, 6, 9, 70 into a heap with the maximum element at the root is

@ge 89, 19, 14, 40, 17, 12, 10, 2, 5, 7, 11, 6, 9, 70 oi)d)& M&)dg ﬁ@g
WO3BWRODN 20T Tod0o3TH JTOIJeTen @ﬁéﬁmﬁdod 90BTED RN
6&)&3‘ 50@8 0370 ?

A O B) 1

<O 2 (D) 3

A full binary tree with (2n + 1) nodes contain

(A) n leaf nodes (B) nnon - leaf nodes
(C) (n-1) leaf nodes (D) (n-1) non - leaf nodes

(2n + 1)RReEET 2,00 VOWREDE 339356 de)g@ Be 803 oba@dd)a BRODDIT ?
(A) n e9exm® e rivh (B) n doa® e9ex® Seemsrish

(©) (n-=1) e9ex® Jwertisd (D) (n—-1) To® e9eP® JeeBENIHD

Space For Rough Work
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31.

32.

33.

A special software that is used to create a job queue is called
(A) Drive (B) Spooler
(C) Interpreter (D) Linkage editor

e30e)° BRg R, BTN DYWE 20T HBe® 30TYod adje)wdd ?
(A) @ 3 (B) wgeoe

(C) QoL3T°Qe30° (D) e90Fees® H&E3TE

Block or Buffer caches are used to
(A) Improve disk performance.
(B) Handle Interrupts.
(C) Increase the capacity of main memory.
(D) Speed up main memory read operations.
2395° WPwo DPO° a—azgeseﬁéd)& oba@da‘oﬁﬁ DETIMNIT ?
(A) BT JBeBEBADHT, GoIrieyDen
(B) eom@esedriga, A dbTen
© dmaozg ﬁée)@oi) md)cﬁa‘zgdd)& BPITT
(D) dmaozg 5@@3 BT Foodree 3TEONR, L0WIOREWIT.

A relationship between processes such that each has some point (critical section) which
must not be executed while the critical section of another is being executed is known as

(A) Semaphore (B) Mutual execution
(C) Multiprogramming (D) Message passing
Béodeode, HHIBROWBT FLTO® DIONHR), IDESWWON, T »TeIOTHR

Fod) oJord (critical section) r‘i%}‘do& BROOHDE By [T ﬁoeoocﬁddo&
NHI0T F30DeIHIT ?

(A) JBoPsees® (B) OPT3 2&gHTed

(C) 22BIDIY (D) ®orWed Jwox

Space For Rough Work
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34. Pre - emptive scheduling is the strategy of temporarily suspending a gunning process
(A) Before the CPU time slices expires.
(B) To allow starving process to run.
(C) When it requests I/O.
(D) To avoid collision.
De-DO0R° VA0 WO OQ0M° BEabodbR, ToBgesseIonN
gﬁér’i@?"’wd B08woNa.

(A) CPU 5393&6 §éme @o@zgmrbd RPTeN

(B) Bpd30dhydha Byadoda, StTen eI
©) e I/0 d)& BFRedB PO

(D) ﬁoe@’aﬁss@dm& 3Bdaden

35. Inround robin CPU scheduling algorithm as the time quantum increases the average turn

around time
(A) Decreases (B) Increases
(C) Remains constant (D) Varies randomly

020%° 0o29° A3 aa’rixazgeeorﬂe @d@@ddfﬁg 5393@06 agowdf &?a&gdoé’
D00TVD 3¢ 9T20r3® 5393&6

(A) 3BTRS (B) Besgrh3d
(C) ZBTADITS (D) o3eypsaen dEaRaerhga.

36. Consider the following page trace:
4,3,2,1,4,3,5,4,3,2,1,5

Percentage of page fault that would occur if, FIFO page replacement algorithm is used
with number of frames for the JOB m =4

ge FEOS PHeaz® edex® @ 4, 3,2, 1,4,3,5,4,3,2, 1, 5#1%1 B0edd, FIFO HBees®

Oeggem®edoe® edpddew®a, JOB m = 413 Fesberdd Toadriteodr
ABIBROBT T0IDDABDIWOE eI’ amo:;d BeFBHT DTNDLIT ?
(A) 8 B) 9
(C©) 10 (D) 12
Space For Rough Work
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37.

9

If an instruction takes ° i ’, microseconds, a page fault takes an additional ° j
microseconds and on an average a page fault occur every ‘k’ instruments, then the
effective instruction time is

20T APV 1 d)éé@ ﬁéowﬁ‘ﬁs"a{)& BIDBFROB3 20T e Foer 0T
5 d)éé@eﬁéoweﬁéd)& éﬁd)é@éggd DA 0w JITIO Beas® ?p—oe):;ﬁ 28 k’

TBRBIOL TOPAIBES, et wémdoDééé PRI edyed® e3ITI.
(A) i+j/k (B) i+j*k
©  (+p/k (D) (G+)*k
38. The octal number to be given along with ‘chmod’ command to make a file readable,
writable and executable to the owner, readable and executable to group and others is
200 TBIV, #0eesIN LHLETOZ T0dNB0IF T ATE HWHOZ oW
20w o DI PB30rT  LHEDHTOIS Ve HbROBOIZ  @oewe  chmod
e363e3WRODT Boewaleson 9;9%;&76 ﬁoaé;g 0350 ?
(A) 000 (B) 755
(C) 744 (D) 555
39. checks type field in the file’s inode structure.
(A) Shell (B) Kernel
(C) Compiler (D) Assembler
FBIY Odeer® JesSodey o PpeeSs, 203ee90ITI3.
(A) Be® (B) BIcess
() oz (D) oo3nexs
40. Which option will be used with ps command to slow the entire command line of the
process being run ?
200 JFBoIEDB BFoDodh Jompee ©Bed ToOR), IFPITMUOYTLD QOT®
3533 RO 28I e;eoigoil) 0350 ?
A) -4 B) -f
© -1 (D) +4
41. Many causes of the software crisis can be traced to mythology based on
(A) Management myth (B) Customer myths
(C) Practitioner myths (D) (A) (B) & (C) are true.
S03903 asggd e a—adsaﬁ's’d)& _ @hedd e35003w0rd D0T0EY
TRV WNT.
(A) dﬁdas’dsa T TeNIBD (B) mMo®s oTonEd
(C) &)8Med @ooerLh (D) (A) (B) &= (C) nsb =D
Space For Rough Work
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42.

43.

44.

45.

is an “umbrella” activity that is applied throughout the software engineering

process.
(A) Debugging (B) Tasking
(C) Designing (D) Software quality assurance

20 BO0TYoB  DoeAOLOON® FFohad ewgdEY PO
“e908Je79” 2363083698 0300NT.
(A) B200r® (B) =0eg o)
(©) &mgﬁr’x@@a’pﬁm (D) So=go3d rbsad)%d 02333

In estimating the software cost the Lines of Code (LOC) and Function Point (FP) are used
to measure what ?

(A) Length of code (B) Size of software

(C) Functionality of s/w (D) Both (A) and (B) are true
B039033 ﬁagddo& ORI RYTILI 693&5 s BFew®(LOC) morie as‘ogae

oo oex® (FP) ﬁ‘E’Rﬁ)& oim@dd)& EI3DTBEN VFTVIOIE ?

(A) ToBe3x vz (B) So=903ad mog

(©) s/wa Toode dIE BB (D) (A) &=y (B) o8B0 30
What is the equivalence partitioning method that divides the input domain of a program
into classes of the data from which task case can be derived ?

(A) White box testing (B) Black box testing

(C) Orthogonal array testing (D) Stress testing
20T ZEAHOD NPRE DYDY, LOT; Fe YD), S0IOTDIHT BIW

FYTPTRY, DONBTE BegBSRS HLIE R/AOM® AP 03ToLIHT ?
(A) ﬁéws e85 Boed (B) eygs® eo5s ClelS
(C) epoenIeo® ede I0ed (D) gxﬁ B0
In a function oriented design
(A) Cohesion and coupling are minimised.
(B) Cohesion and coupling are maximised.
(C) Cohesion minimised and coupling are maximised.

(D) Cohesion maximised and coupling are minimised.
20T F00379E2J00 VODOHI &mﬁﬁdg

(A) RoPud D) Boedrritd s
(B) RoPud D) Beedrrid o3
(€) RBoFeSodn BRIV ) heedrdritd &3
(D) RoFeSodn HHZE Fd) Aeedsri )3

Space For Rough Work
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46.

47.

48.

A process model that removes defects before they can precipitate serious hazards is

(A) Incremental model

(B) Spiral model

(C) Clean room software engineering

(D) Agile model
M0gedeer WRLIEHER)0e0EIBS Berdde BoeRMTR), SIBTOE BFaIe
@00330 :

(A) Y803’ BT

(B) F300° owd

(C) gex® Trw® masga"eoe D028Q0HBoME
(D) edye® ©37030

Software safety is a activity that focuses on the identification and assessment
of potential hazards that may affect software negativity and cause an entire system to fail.

(A) Risk mitigation, monitoring and management
(B) Software quality assurance
(C) Software cost estimation

(D) Defect removal efficiency
BOoTYOZB WTTI, YW I0TY0B TZToUoZTI &) WOTW VOBREE P
APODDAFTOD Deed HOmoed weddw TBDPe WWIWBIE MHVEWAT DR

ddaeszgeﬁdsad el ADINOD 20T 2360395 030003.
(A) 0= AT, BIoe3doMs, dngéeeaedoowe
(B) mw:;ﬁeos TYLIEI Chebela
©) mw:;ﬁeos B[S a?‘gdoeefas
(D) BT bR dHdoD
On an average the programmer months(pm) is given by 3.6 * (KLOC)'?. If so, a project

requiring one thousand sources instructions will require
3.6 % (KLOO)” & Shweed dgerpabo® @0zs(pm) 3, AeBdeoNt, HormaEs 2,060

TODT 3BT VB3I @deﬁzgééo&)d)d HeIAVICIDI =, BeeDI3.
(A) 3.6pm (B) 0.36 pm
(C) 0.0036 pm (D) 7.23 pm

Space For Rough Work
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49.

50.

S1.

52.

A relation of COCOMO model is

Be 38AT ad7exx)cd> COCOMO 308003 F0220RFmNT 2
(A) E=a*(KLOC)® (B) E=a*(KLOC)
(C) E=a*(KLOC)’ (D) E=a*(KLOC)®

If the number of conditions in a decision table is n, then maximum number of rules
(Column) is possible is
200 Qepeod Doy WORME Tosjodn n @HPY, dadbed(column) ¥
0023xBRe0d ﬁ@g ﬁoﬁzgoil)

(A) n (B) 2n

(© 2" (D) log,n

For a database relation R(a,b,c,d), where domain of a,b,c,d include only the atomic values
the functional dependency a=>c, b->d holds in the following relation in

a,b,c,d o a—aojoa‘gegd) esedeese ddaozgﬁf}do& D00 2ERORE B0
002003 R(a,b,c,d)3, To0edB vxB02a3 a=>c, b=>d odv B FEOHI odred)B3REN
BRODHIT ?

(A) 1INF not in 2NF (B) 2NF not in 3NF

(C) 3NF (D) INF

B+ tree is preferred to binary tree in database, because
(A) Disk capacity are greater than memory capacities.
(B) Disk access is much lower than memory access.
(C) Disk data transfer rates are much less than memory data transfer rate.
(D) Disk are more reliable than memory.
B+ &,5% 370 &353803 ©39033¢ @cﬁzgéo&)d, NBFOTT :
(A) &= mqu‘%s@ DO md)cszgsgo@ éa&gﬁd
(B) &= 98T D DO 8ZINH0B APoITNA

(C) & B3IV DJneedrd TOY D0 BZ BeePrBod BIoI wHY
BB 07N

(D) BT DRedMvNHOT xBYR) S0BTT BFHEDNTIT.
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53.

54.

5S.

56.

Which of the following is true ?
(A) Arelation in BCNF is always in 3NF.
(B) Arelation in 3CNF is always in BCNF.
(C) BCNF and 3NF are same.
(D) A relation in BCNF is not in 3NF.

e FEOIPNYY 0dohadd 080N ?

(A) BCNF 393 8020053 3NF 3¢ odroworiene Qa3
(B) 3CNF s 8020053 BCNF 3¢ odroweriene qd3as
(C) BCNF &3y 3NF b 2,063e esHh3es

(D) BCNF 3@dha co20338) 3NF 38 38

If in a tree, for every node the height of its left subtree and, right subtree differ almost by
one then the tree is

(A) Binary search tree (B) AVL tree

(C) Threaded tree binary tree (D) Complete binary tree.
200 BT TS Feewer HBIBOD T ONBOD LVDT)BIY HTTD) 50@8

1 3®) BB APT, & BT
(A) 30 mes°e ege (B) AVL we
(C) Zdw® e e3TO e (D) Bogeer 40 ege

How many character per second (7 bits +1 parity) can be transmitted over a 2400 bps line
in case of synchronous data transfer ?

OR) VFTONER, T8 JFokr (7bits + 1 parity)r§ 2400 bps 0°Vey d0BLe[T®
BY BMoE BB OE CDTAVBI) ?

(A) 300 (B) 240

(©) 250 (D) 275

Decryption and encryption of data are responsibility of

(A) Physical layer (B) Data link layer
(C) Presentation layer (D) Session layer
BEDD° DB IVET® BZ 03I0IBE @2e0egd ?
(A) @xze® Seado® (B) wsocdo 908° e3eado®

(C) wBoedean® edeodod (D) 5%&6 e3ecdHo®

Space For Rough Work
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57. Which of the following are session layer check points ?
(A) Allow just a partition of a file to be resent.
(B) Detect and recover errors.
(C) Control and addition of headers.

(D) Are involved in dialog control.
YOI 0370 Ignee3eado® 253° HooW oL HIFaNT ?

(A) Feldo 2,03 TBIB epaﬁddo& DTy THHITLD 9T SIPTD
(B) 3IFR, To@&BINPT B TO BRI

(O) BBoE Bueerdrd DI J0DoZew eI

(D) Togremes QodoZerdeer werteyggdhs:s

58. What is the maximum size of data that the application layer can pass on to the TCP layer ?

(A) Any size (B) 2'°bytes
(C) Size of TCP header (D) 1500 bytes
w@Femn® Beado® TCP Beadoeri FEL&HTDTODR FoetolW MOF MoZ:Dd)

(A) ode)de MoBBTIOWD
(B) 2'° s rizeNdaadwd

(C) TCP BBE0° Me3BYTROT
(D) 1500 2}ePriveNTamOwD

59. FDDI stands for
(A) Fibre Distributed Data Interface
(B) Fully Distributed Device Interface
(C) Frequency Data Digital Interface
(D) Fibre Data Device Interconnection

FDDI 0333

(A) ?Séeoce @?:)ngaé’we WOELJ0 QYOL30TPHPET®
(B) o @gngﬁswe @ﬁéxﬁ QOL3ITEHeTE
©) @eg(‘g WotJo B3I’ [OL3ITEHeT®
(D) ?Séeoce BOLIO @a”éxﬁ aowoeéa"gas
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60. The delay that occur during the playback of a stream is called

(A) Stream delay (B) Play back delay
(C) Filter (D) Event delay
?‘gedfd ge a:azgae BOWPE T &éoamﬁo@dé’ HJ0w F3030B3 ?
(A) ?‘gedf DE0D (B) e api DE0D
©) $0° (D) ®edldoer® o

61. A binary relation R = {(1,1),(2,1),(2,2),(2,3), (2,4), (3,1),(3,2), (3,3), (3,4) } on the set

A={1,23,4}1s

(A) reflexive symmetric and transitive

(B) neither reflexive nor irreflexive but transitive

(C) 1irreflexive anti-symmetric

(D) irreflexive symmetric and transitive.
e}S0 d&ema® R={(1,1),(2,1),(2,2),(2,3)(2,4),(3,1),(3,2),(3,3),3,4) }& meo A={1,2,3,4}
3 el angaoazg&)&bmﬁ 3803 oim@dd)& 3@&Jw®"’m§d’ ?

(A) OFPsw®, WYT® B0 YYeD°

(B) 08w 0y, 00PN @0 8F3 19QN® NI

(C) XT°0PER®, 063 AAELYT®

(D) 390°0g8=°, dWWE® S0w° YLoe®

62. The proposition p~(~p v q)is
(A) A tautology (B) A contradiction
(C) Logically equivalent to p*q (D) both (A) and (B) are true
D8O pM(~p v q) T FENOR 0o BN 2

(A) ePe3oeeros

(B) BoowRT™®

(C) p"q 1} ooxzee Begadedor®
(D) (A) @3 (B) 28B» IO

63. In propositional logic which of the following is equivalent to p—q ?
T3 IFeRY Te FINT oD p—q i BRWNT ?

(A) ~p—q (B) ~pvq
© ~pv~q D) p—-~q
Space For Rough Work
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64. Which of the following is a declaration statement ?

(A) It is beautiful.
(B) He says “It is correct”.
(C) Two may not be an even integer.
(D) Tlove you.

e FYNT adoxh)cdh BFTewm~® PeerreHoer enNd ?
(A) e’ 9T° angwai)oe
(B) &e Jem® “ge° 93° 53T
(C) €30 ade Mo’ 293¢ I° YIS [YOLIRTE
(D) = ox° ot

65. (G,*) is an abelian group, then
(A) x=x "1 belongs to G, for any x.
(B) X=x" belongs to G, for any x.
(C) (x*y)’=x" * x" belongs to G, for any x and y.
(D) G is of finite order.
(G,*) @ 22390HA® ND® 8w3d
(A) adeyde x 13 x=x"' &) G aDYHII
(B) ododxde x 13 x=x2 @ G 03
(C) o3xk)de x DB y I x*y)»=x2*x2 @ G oH D3
(D) G &) BOWS D woNHHITI.

66. How many distinguishable permutation can be generated from a word “BANANA” ?
“BANANA” 202 SIBHOR o&) 23ed 2Jed b doerdmirga), tu3STDTOD ?
(A) 720 (B) 60
(©) 240 (D) 120

67. The term 245+8+....... +(3n-1) is equal to
2+5+8+....... +(3n-1) T-«ioagﬁ%fa ﬁadé’& AT

(A) @ -2 (B) n(n+1)/2
(©) n(Bn+l)/2 (D) n@3n-1)/2
Space For Rough Work
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68.

69.

70.

71.

72.

The 2-D translation equation in the matrix form P is equal to

dng@aj Je330y™ 2-8 epJSemin® segemn® P’ odo oim@di?&,—w’ﬁa ?
(A) P+T (B) P-T
(C) P*T (D) P

All the hidden surface algorithms employee image space approach except which one of
the flowing method ?

(A) Back space removal (B) Depth buffer

(C) Scan line (D) Depth sort
DY HWI® TPE eT® @d@@cﬁdfﬁﬁb FEOS 00D DPOIB BRTToH [Yaoeas®
e vBgessd), VYBRTVIA ?

(A)  erges® Je® Ddoder (B) @B apos
(C) ggne &393&6 (D) B Toee

Oblique projection with an angle of 45° to horizontal plane is called as
(A) Cabinait projection (B) Isometric projection
(C) Cavalier projection (D) Diagonal projection
Be FEYNT 00D 7@ TDHIEF 45° eI @gg&xazg (oblique) Bgeeddn® esHA ?
(A) Tyedadewr® BeEzn® (B) Dldeeshys® Bpdza®
(C) BDd0bO® Bedsa® (D) BWoderiner® BrEE~e

What is the prototype of the default constructor for public class test() ?
public class test() BBV BPoe)S FVCLIFTOS Bpeloecdm® adehadd ?
(A) test() (B) test (void)
(C) public test () (D) public test (void)

Which of the following method belongs to thread class ?
NS 00w DPoIY) F® TR TOVOKITW ?
(A)  wait() (B) join()
(C) notify() (D) sleep()

Space For Rough Work

20 Computer Science



73.

74.

75.

76.

What is the priority of the garbage collector thread of the JDK ?

(A) Low priority (B) Highest priority
(C) Median priority (D) Decided at run time
BBZOD mg"eeae 6&5’§OG Qe @d.ﬁé’ 035 ?
(A) TBD esdzgé (B) égd esdzgé
© d)cdzgd) esdzg@" (D) Ox® Pevodhey AR BRR)T

Which one of the following method is used to obtain values of invoking object as a long ?
T80T ool &mdﬁ@l Yo RPedons e;eaga:; e;ezgme @D €P0MN° D02VTIT

B30, FomE&BADe pumodeeNTTYT ?

(A) long value() (B) longlongValue()
(C) Long longvalue() (D) LonglLongvalue()

Multimedia system require hard real time scheduling to
(A) ensure critical tasks will be serviced within timing deadlines
(B) deliver the media file to the client
(C) minimize the delay

(D) ensure security
DI, DBT VAT BDeyeRdodTe dFer! Towoe Oeoder febr Rdggeson®

desordI3a ?
(A) Beazed mmgﬁf}d)& QB3 Behodbh@dgode @BodE oETR)TO
(B) oedadio ?39306#1)& ﬁéowﬁ 00T mmd)dm&
©) a)%?oaaddo& TR Jjowen
(D) dgeadab,

MIDI stand for .
(A) Musical Instrument Digital Interface
(B) Musical Instrument Digital Instruction
(C) MP3 Instrument Digital Interface

(D) Musical Instrument Design Interface
MIDI ©0@3 :

(A) ngaaoe YN0 Bese3e® YoL3veFHeT®
(B) Sugglze® 9o Bese3e® 9swysn®
(©) MP3 393°e3a0e® Bese3er® Qoe3vsges®

(D) ngaaoe Jreoe® éﬁéaﬁ‘ QOL3ITEPHeTE

Space For Rough Work

Computer Science 21 A-1



77. Which of the keyword can be used inside any method to refer to the current object?
(A) new (B) delete
(C) finalize (D) this
odToR)Te aicgéoixaéﬁ F30e° e;eaga:;d)& pugdeden ool de  PWE
eVD03eNTTIT ?
(A) dtazg (B) &e9es®
©) ﬁédé’émﬁ‘ (D) &=°
78.  Which of the following is TRUE only for XML but not for HTML ?
(A) Derived from SGML.
(B) Describes control and layout.
(C) Allows user defined tags.
(D) Restricted only to be used with web browser.
B3OS 0P  IFTR0DPr] P8 I00eNW  8T3 BeItLID0eer
TOVORRIDH)DY ?
(A) SGML dod& @693@;‘ 3033
(B) 3t Fodreer ) 6e@wsﬁ%‘}d)& QI3
(©) 8 odweo® @@’éd(zﬁ‘ wazgﬂjdo& DD STITI.
(D) 3 Ser° eP0Reodrt &Breg svBadeeNTen JVE0HIYYDIT.
79. The XML DOM object is
(A) anentity (B) anentity reference
(C) acomment reference (D) acomment data
XML DOM e;eaga:;@ FBOI 0o ?
(A) @093 (B) @0t BHTBS
(©) Bocdoer® SP3° (D) Boadhoer® wwoLIo
80. Which JavaScript features uses JAR files ?
(A) Stylesheets (B) Object signing
(C) Netcaster channels (D) Image rollovers
eo0° &ééﬁf}do& odjos3 eZowo %)w:; $e30°80 eo's’&)éta's’g§c3 ?
(A) FB3o° dees® (B) eogfzs Foor®
(C) RVeP*BoFo® FE, (D) ezt doeersudcs
Space For Rough Work
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81. Computing the binomial coefficient "C, is an application of

(A) Divide and conquer techniques

(B) Decrease and conquer techniques

(C) Transform and conquer techniques

(D) Dynamic programming techniques
a%d;ae&ooi)eﬁ Bpeaddadoer® "C, @d)& FTOBISBOINFTD wHTeS®
es03.

(A) B[ I Fogo® oy

(B) ®gex® 2HI) sogo® oY

(C) eRIEPoHE DI FoFo® I0IY

(D) @oosnz® Bermpooon® 3ognd

82. The worst case time complexity of the sorting algorithm by using divide- and -conquer is
BFEe DI Togo® IP3odb, evBadeeNITLo@  FhweH LeedTo
©0e3Redr e 3 ge—g B0H B 3BT 0370 ?

(A) O(nlogn) (B) O’
(C) O(n’log n) (D) O(log n)

83. The application of transform-and-conquer technique is
(A) Merge sort for sorting a list
(B) Gauss Elimination for solving the system of equations
(C) All pairs shortest path
(D) Minimum spanning tree
9N PoTE BT Foy_0NT° J0TW WyBeB°

(A) e ToELIE PoU® TRLYEOMT® 93

(B) éegeeiae as‘cg@ojodo& DOBOTEN MOT® eI
(C) ese® PBeoe 2335395:; TP

(D) T HeQoN® &3¢
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84.

The travelling salesman problem can be solved in
(A) Polynomial time using dynamic programming
(B) Polynomial time using branch and bound techniques
(C) Exponential time using dynamic programming/branch and bound techniques

(D) Exponential time using back tracking
Do ©IP0ENETR Jeeadad, BO0HeT @rewen

(A) ToodnT® BRIMPAON®  DEYIZEOBW  ToTOOO®  JeHod
eu03eeNdon deFard3ad

(B) emgoes® HBY ePor® ToZ 2YIBWLOBW  DHoWTOODE® HEOD
eu03eeNdon leTard3ad

(C) cmod0T° BRMYMON® / eJge0es® I &P0m° SoFNYTY YFIBLOR
DT BRIYodh e Jehod Bezorb3al

(D) 2955° £3980M° DEIBEROW DT FRIYoDe® Tad BezarbIcs

85. Given 0 — 1 knapsack problem and fractional knapsack problem and the following

statements:
S,: 01 knapsack is efficiently solved by using Greedy algorithm.
S,: Fractional knapsack is efficiently solved using by dynamic programming.
Which of the following is true?

(A) S, is correct and S, is not correct

(B) S, and S, both are correct

(C) S, and S, both are not correct

(D) S, is not correct and S, is correct
0 -1 knapsack @@  fractional knapsack TIerigdad, &g HF FEOI
BewBNER, MDD :
S;:0~-1 knapsack &=, New® ©8Rd@RPT TDTES DFFONOT BOBHOTLNTS
S, : fractional knapsackeo®), TWTOT® BREMEET JPBJET  DEFONOR
BOBOTTDHPHTN. 313 Te FEOHT 03D 03N ?

(A) S, 30 DIy S, 3|

B) S, IF S, o0@e IO

(©) S, DI S, 0@ 3T

D) S, 3R DI S, IO
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86.

87.

88.

89.

Bresenham line drawing algorithm is attractive, because it uses
(A) real arithmetic only (B) integer arithmetic only

(C) floating point arithmetic (D) real and integer arithmetic
éefasngdf 118 o8adna @d@@ddf eITRE S, DFOTT AT YVTOILCNTITYTH

(A) Boder uredes® @303
(B) @ommoe08 WPEDNT 3003
(C) Fesorn® HooDOL® WPE aDEeIT®

(D) Bodbher HIB) BRETE 0T WTE DITE

The Newton—Raphson iteration x_; = (x,,/2) +(3/2x ) can be used to solve the equation

Ri@zgwae—oazgaﬁaed, e3ded®® X, =(x,/2)+(3/2x) ab& YOI adbesd BT

n+l —

BOBOT FToBISHB0IHN B3 PENHTDBOT) ?

(A) x* =3 (B) x’=3
(C) x*=2 D) x’=2

A root of the equation x> — x — 11 = 0, correct to four decimal using bisection method is
ey BB w° ﬁcgéoi)d)& gumadeedd x3 — x — 11 = 0, BeTTB), VRV
x @ee ddadn Teey BTeodrivri e FENT adies 20w Tosk BOAINDLIA ?
(A) 23737 (B) 2.3838
(C) 2.3736 (D) 2.3837

The order of errors in the Simpson’s rule for solving a numerical integration with a step
size his

QOBR®  JobEDBY  ‘h' MeZ-mo3BW  Igehdze®  owedn®  ©OFHT
FOWIHBOINVWN BReRME Thw) FENIT 03708 DoNDIE ?

(A) h (B)
© (D) h*
Space For Rough Work
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90. Match the following :

91.

“ RO

(A)
(B)
©
(D)

Be BENTPME, BR0BD B0 :
1.

P.
Q.
R.
S.

(A)
(B)
©
(D)

Newton — Raphson
Runge — Kutta
Gauss — Seidal
Simpson’s Rule

Q R

—_— W N g
W H~ = W1

3
2
4

W N =

4 1

[\

ngwas—oaﬁae
dor-30e39

&3
Morf-derder®
0TS Q0
R

A= W N Mg Qe
e L AN e
W N =

N W A = W

Ll O

2
3.
4

Integration

Root finding

Ordinary Differential Equations
Solving the System of Linear equations

QowrieR®

DR FToBGBOINP)TD

3030 BPBJodher egeR®
©9Q0DHT® T0eFTERTR, VBWFHT

Which of the following is a data warehouse ?

(A) Can be updated by end users.

(B) Contains numerous naming conventions and formats.
(C) Organized around important subject areas.

(D) Contains only current data.

e FFNTYMYFY 0l B 3e0°BOT° 30T 2

BRI 0BFD0R 9DRBLF BIeBDHBOENTS

WReT DI 3230380 &R FeD dzgdgﬁs‘do& BROBDDIE
T HROD FeTM¥ T VOFLIITLROBDIA

Fedo TRT BFIBR), oF BRoDDIT

(A)
(B)
©
(D)

A-1
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92.

93.

9.

Which of the following is a Fact table ?
(A) completely denormalized  (B) partially denormalized

(C) completely normalized (D) partially normalized
e FEOIYNEY odro)ad DOgTS e3e20e3® esNT3 ?

(A) DozeeatewoN BeTeLTe NI
(B) erorizs @mdéé’éme e3HDHI T3

(C) Tozeeae 0N D03 NI
(D) ejorizs mdéé’éxﬁ e3HTLI .

The load and index is a process to

(A) reject data from the data warehouse and to create the necessary indexes.
(B) load the data in the data warehouse and to create the necessary indexes.

(C) upgrade the quality of data after it is moved into a data warehouse.

(D) upgrade the quality of data before it is moved into a data warehouse.
Bdrer® DI [owse FFadodw

(A) W WO HOTEAOT @otIoR, SCJOWHT  Forie
[OWFIF, Teshad Bgod

(B) wotdo 3e0t®mO°Se @wotroR), et [ewdE  Forlwe @deﬁzga-’

QoBse YR, Jesrdz Fgod

(@) mmdm&, WoLJ0 WeO HBOTERRBM 3edABW J033 9o rbsado%dd)&

D[REDIT.
(D) woesRsEs, Woeso BeoSBOTEI RGBT  Jedam Bwoas3se
oeeshedRRh, BHEDIE.

In star schema, a type of relationship between a dimension and fact table is

(A) many-to-many (B) one-to-one

(C) one-to-many (D) many-to-one
aley &gemd 20T té’édogae AVCY) @Qﬁﬁi Jeef s SBWAT T0VOFRB PO
o3 ?

(A) DDI-30- B) aaf-e0-2on°

(C) aaf-e30-3Q D) DI-e0-2o°
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9s.

96.

97.

Which of the following is Transient data ?

(A) Data in which the changes to existing records cause the previous version of the
records to be eliminated.

(B) Data in which changes to existing records do not cause the previous version of
the records to be eliminated.

(C) Data that are never altered once they have been added.

(D) Data that are never deleted once they have been added.
F8NIYNEe oado)ad wgzgéj\u)oi)ows w@otJo 30T ?

(A) @r}ggdgdod SBoGfenyr) 237N, BFTEP NG &oOI esde)goi)d)&
B BoFTQBOF(] FoTroeore WoLJo

(B) @r}ggdgdod SBowtenerl 2@eTof), BB NG O™ esde)goi)do&
B TOBODF] FoTDNIW TWOLID

(C) 2,0% 2700 FedHAW JF0BT VOB 0TI WoLIo
(D) 2,06 2700 FedIBW J08T Dobde IITOTYBE BoLIo

Strategic value of data mining is

(A) time-sensitive (B) work-sensitive

(C) cost- sensitive (D) technical-sensitive
B3 NedredFad SJeode303 diaozg@ e FENIYNEY 0drox)woNd ?

(A) 303 mgéé (B) Fow mgéé

(C) @3e3ad Rixagéé (D) =008z mgéé
The term refer loosely to the process of semi-automatically analyzing large
databases to find useful pattern.

(A) data analysis (B) data warehouse

(C) data mining (D) knowledge discovery

200G POTOINT FPBOODR), WBBRYWTYN I eedpesdeze wod0M®
e Wotdo 23eT® FFodah, LvedesE B

(A) WOELID DOIDTE (B) w@otdo 23e0°HOZT°
(C) oo d)ééi)orﬁ (D) mdw; @R’gd@
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98.

99.

100.

Meta data is used by end user for the purpose of

(A) managing database (B) querying
(C) making decisions (D) structuring database
2DeTe BZB, 3RF0D BB odress Foded svBodeeNTTYTS ?
(A) TW3033 e B33 (B) @’é&a’nd evgded
(C) Qeeeod T[romen (D) BS03W TOTIIJ0Y

A type of classifier that gives accurate classification across a range of application is

(A) Binary split (B) Multiway split
(C) Opvertitting (D) Support vector machine
DeJY @Qeéeaﬁaeﬁéd)& 0003700 DorRIB 20T 230D a;ac?@’éoi)oe 0370 ?
(A) 30 & ° (B) hegyle & e°
(C) &Boopegon® (D) mBeeere PB890° share®

Data scrubbing is a process of
(A) rejecting data from the data warehouse and to create the necessary indexes.
(B) loading the data in the data warehouse and to create the necessary indexes.
(C) upgrading the quality of data after it is moved into a data warehouse.
(D) upgrading the quality of data before it is moved into a data warehouse.

@oeTe JRPOTP, Te ZFabodn

(A) o B0 EOTN0T BoLoRR), STPOWIAW &) widy [oWFSIYR,
Cesr03al.

(B) @oo  Weo°TOTR0B  TotobR), Heer®  @S@d3IB BB  wrisg
QOBTE YR, TBWIT.

©) mmdm&, WoLJ0 WeVSHBOTERIRB JedIW <033 9rd3 rbsad)%dd)&
[OEDI.

(D) mmdm& BeotBOTEI BT JedDT  @Wwoes3de 93 mwm%dm&
[OEDI.
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B8R Hegesslsdor S BB, BGFob, A 23e 23 ur J033 oY . 1.55 &8 F03T BererrbIHD.
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